Crossword Puzzle: Numbers
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Write the number word in the puzzle for each quantity below.

  ACROSS
  DOWN

  4.  7 + 5 + 6 =

  1.  30 - 17 =


  6.  (2 x 8) - 9 - 7 =
  2.  (63 ÷ 9) + (2 x 5) =


  7.  (12 ÷ 3) + 6 + 4 =
  3.  (6 x 6) + 4 =


  9.  43 + 37 =

  5.  (3 x 7) - 2 =


10.  (28 ÷ 4) - 2 =
  7.  (32 ÷ 4) + 7 =


11.  (3 x 6) - 13 + 6 =
  8.  (5 x 9) - (3 x 5) =


13.  (8 + 6 - 4) ÷ 5 =
12.  91 - 87 =


15.  64 + 26 =

14.  (7 x 7) - (6 x 8) =

17.  (42 ÷ 6) + 8 - 6 =

      16.  (54 ÷ 9) + 4 =

18.  (8 x 9) - 7 + 5 =
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Solution to Crossword Puzzle: Numbers
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